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LG SEP 2019

Paper Code: 21814

B. Com. Semester — VI Examination
Business Statistics - 1l

Introduction: Use of Statistical tables are allowed.
Describe the following terms.

()] Favorable Outcomes (2) Complimentary Events (3) Exhaustive Events
A sum given to three persons to calculate. Probability of getting correct answer
is 0.50, 0.33 and 0.75 respectively of all that three persons. Find the probability of
getting correct answer of the sum.

OR
if A and B are not mutually exclusive events then prove that,
P(AUB) = P(A) + P(B) —P(ANB)

There are two white and three black balls in a bag. A, B, C and D take one ball
simultaneously in sequence. Who get the white ball will get prize, then find their
probability of winning the prize. (Selected ball is not replaced.)
State the properties of Expected Value. Write the formula of Mean and Variance in
terms of expected value.
If for a Binomial variate, n = 10 and P(5) = 2. P(4), then find probability of success,
mean and variance.

OR
Probability distribution of a Variable is as follows,
X 15 16 17 18 19 20
p(x;) 0.04 0.19 3p 0.26 P 0.07

Find the value of p, mean and variance.
State the properties of Binomial distribution.
Write probability function of Poisson distribution and also write its properties and
application.,
The average daily profit of a merchant is Rs.120 and the standard deviation is Rs.
40. In how many days out of 365 days of the year its profit is (1) Jess than Rs. 100
and (2) more than Rs. 1257 '

OR
Write properties and application of Normal distribution.
if a random variable follows Poisson distribution whose mean is 2, then find the
probability of x having value 1 or more than 1.
Describe the method to test of significance difference between two independent
sample mean.

[Total Marks: 70
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(b) Following results are obtained from the sample. Test that the selected sample is 07
selected from Population having population mean 18.5.
15, 18, 16, 21,19, 21, 17,17, 15, 17, 20, 19, 17, 18.
OR
Que.4 (a) Describe significance test between Population mean and sample mean. 07
{(b) Mean of two random sample of size 9 and t are 196.42 and 198.82 respectively. For 07
these two samples sum of square of deviation taken from its mean are 26.94 and
18.73 respectively. Are both samples taken from the same population?
Que.5 (a) Describe F-test for the population variance ratio of two independent samples. 06
(b) Tossed Six coins together 640 times and the following results were found. Check 08
that the coins are unbiased or not.
No.of Heads(X)| 6 | 5 | 4 3 2 |10
Frequency 12175(132 210|132 |75} 12

OR
Que.5(a) Describe the y2-test as Independence of two attributes. 07
(b) Following information are obtained from the two independent samples. 07
. Sum of square of deviation
Sample Size .
taken from its mean
[ 10 144
I 13 264
Test that whether these two sample are taken from the population having same

variance?
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Paper Code: 21814
B. Com. Semester -~ VI Examination
Business Statistics - Il
Introduction: Use of Statistical tables are allowed.
Que.1(a) oflAeil UEL AHoAAL
(1) Ui URRIBN (2) Y25 HeetiAl (3) (e SEETEN
(b) 4Gl cu(ZoilA A5 eiwel ABlaL WM 1 B, A el AR AR dofl Aeildett
ue i) 0.50, 0.33 2421 0.75 B. dl erwell UL ARiclis{l Aerldatl Nal.
vl
A3 B Q) el2elid) YRR (1R of S1U ol Ulledd 53
P(AUB) = P(4) + P(B) —P(AN B)
(b) W5 Sleoflil A Ade A AR SIALESLD. A, B, C A D 51 WHIA digrell Ws ¢S\
2 D wa B ude 651 WA AN SAL HA D |, dl BeliM Wetcltef] Al Aeriaetl A4,
@5 quid €13 £ WIS YsaliHi widd] «tell)
Que2 (a) (Ed Budlett el awaud). 1R BHdA 2R Heds s (U Anadl
12 3o sauldl.
(b) N [ZUEL UG HIZ 1 = 10 A P(5) = 2. P(4) S1U dl UsULclloll Aetlaeil, Heus wa
GHEERG TN

Time: 2 % Hours] [Total Marks: 70

Que.1 (a)

wedl
Que.2 (a) s Yo Aeilctell (AL «1A uHId B
X 15 16 17 18 19 20
p(x;) 0.04 0.19 3p 0.26 p 0.07
peil (5Hd Hod], Heas e [Quel 204,
(b) (gUEl fdrelett il esLidl.
Que3 () Wudel [Cdte] detiaetl @R eeild] At GuloL i A 1ead] aeudl.
(b) N5 AUl UL LES A8 120 /- 2. D A aAslef UHIBLA [QuGeA . 40/- B, dl
a1 365 [Eau A8l Beal (Eailii Aol «tgl (1) 100/- . ol ) €8l e (2) 125/
. ol qy eQl?
el
Que3(a) WMILY ([Qeledl GualoN w44 yeienil audl,
(b) o) Ugey Ut x NUYe (AR Biof Bell Heals 2 S1U dlxedl (el 1 veal del ay
iy d HR{] Aetiasil 04l
Qued(a) Q Gia0at [lealeil Heasel dsicids dlesdl ulast avldl.
(b) N Fieei o1 yored Gudl HA B, 18.5 Hrasaloll uHRuidl Aarl B3 34 d
2id\ef udletl 52 15, 18, 16, 21, 19, 21, 17,17, 15, 17, 20, 19, 17, 18
el
Que.d(a) YHIE Heus wA [Fleell Heasell dgidde] ulelsdl ulesl asldl,
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(b) 9 7 Seeli A Yg2ey (Aled] HIZ HeRIS) W5 196.42 Via 198.82 B. w1 i (el
HI HesHiell dladt [Gudetal ua10ll MaysH 26.94 A 18.73 B, vid [Aeeil A5 %
yuleuiell Qo &2
Que.5(a) HU(Betl [AUAeAt A (A0t W1 SLeti RN HI2 F- UlatQl ald).
(b} & Riss120 W51 640 AWl Gt «1A Yoxod URRLIHL HOUL, (U851} ulet [Giefcl

83 al& A dull.
ot duatx (6 (s 4 [ 3] 2]1]o0
w1q(d 12]75]132 (210|132 |75 12

et
Que.5 (a) & AQuuHTsfl 2dcatdlefl AL HE2 y2- udae aedl.
(b) 6l (1208t (el urel] «{13-(] i@l 4 B,

Heysiie] dladl (quesl«l
Feel | st qalled) 2ol
| 10 144
Il 13 264

g 1 A (de2ll At [auriatell dH Uil Aami wled) 8 dd udlaal 2.
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